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Lesson 2: Simplifying Algebraic Expressions @COMb\ﬂe L‘ke Terms <so.rvuz eXPOnLn'l:

e Objective: Students will be able to simplify algebraic expressions by applying the properties of real
numbers.

Warm Up: Simplify each of the following algebraic expressions by combining like-terms.

| AN\
(a (b)I(-6x + 9) +H(10x +3) (©) 4y 10— 7y*/+ 8
4 x+l2

Modeling #1: The Commutative and Associative Properties of Addition and Multiplication

Identify the number properties used to simplify the algebraic
expression below.

Commutative Property of Addition
atb=b+a

Commutative Property of Multiplication

3x+7+2x+8=3x+2x+7+8 _
a*b=bca

Associative Property of Addition

3x+2x+7+8=(3x+2x)+(7+8) a+(b+c)=(a+h)+c

Associative Property of Multiplication
=5x+15 a*(bec)=(a*b)-c

Modeling #2: The Distributive Property of Multiplication and Division

THE DISTRIBUTIVE PROPERTY (OF MULTIPLICATION OVER ADDITION) ‘)g?iﬂpki 52x+3)= I0x + 15

If a, b, and c all represent real numbers then: a(b+c)=a-b+a-c

THE DISTRIBUTIVE PROPERTY (OF DIVISION OVER ADDITION) BrEd g+ 2

Example
If a, b, and c all represent real numbers then: bc = 2 s €
a a a

Independent Task: Simplify each expression below by applying the properties of real numbers.

(a)CTX9 431 A9 (¢) 4x(2 — 7x)

25x - 50
(b)@ 4y 12]- 6y () ‘S



2y = 30 - Ly

Group Task:

1) Sophia and Emily are twin sisters. They’re saving up for concert tickets and agreed to pay for the tickets
together when they have enough money.

They created the expressions below to see how fast they were making money, where w represents the number
of weeks they have been saving.

Sophia: 35w + 55 — 10w Emily: 28w + 75 — 5w + 12

(a) Combine both expressions to represent theiq joi

35w+ 55 - 10W[+ 28w+7‘5i 5wl+lz

(b) Using your new expression, dete ave above $350 in four weeks.
If not, how much additional money do they still need?

2) Express each of the following qguotients as binomials in simplest form.

Hint: Your final answers may contain fractional coefficients.

Ox+18 6(3x - 8)

(a) -3a(2a—7) (b) (©)

Extension: The measures of two sides of a triangle are 8x + 8 and 2x> + 7. If the perimeter, P, measures
10x* — 3x + 12, what is the measure of the third side?

Exit Question: Simplify the following algebraic expressions by applying the properties of real numbers.

(4x+8)

(@)X +3x—7x —x+ 12 (b) =



Homework: Simplifying Algebraic Expressions

1) Simplify each of the following algebraic expressions by applying the properties of real numbers.

(a) 4a—5b+9a—10b (b) x> +3x—7x* —x+ 12
36x+21
(¢)-3(4y—7) ) —
26x -5
© % () 9a(7a + 3b)

2) Identify the number properties used to simplify the algebraic expression below.

9x—-3+10-5x=9x—-5x—-3+10

9x-5x-3+10=(9x-5x)+(-3+10)

=4x+7



